N”yl NI 1IN .D.N

0071.
oM,

sl ¢ I

\ [mommpippn]
BAL ¥ /R
EAN =)

e S
0
X npw $

219 179 "Mwpn

44F - UNION TEE

.

JIXN 1170 190n

3/16 21719 ynjz "ann 43F03
1/4 279 yng 7ann 44F04
5/16 1"19 ynp 7ann 44F05
3/8 2119 ynj7 "ann 44F06
1/2 299 yng 7ann 44F08
5/8 219 ynj "ann 44F10
3/4 219 ynj "ann 44F12
1" 29 ynp 7ann 44F16

e
41F - NUT

IINN 117077 190N
1/8 11719 v 41F02
3/16 1''19 vXa 41F03
1/4 1179 vxa 41F04
5/16 119 VXA 41F05
3/8 210 vxa 41F06
1/2 a9 v\ 41F08
5/8 119 v 41F10
3/4 210 v 41F12
1" 219 v 41F16

45F TEE .9.n.®
AINN 11707 190N
3/16*1/8 v ynjz "ann 45F0302
1/4*1/8 v%o ynjz Nann 45F0402
1/4*1/4 vv%o ynjp 7ann 45F0404
5/16*1/8 o ynjz "ann 45F0502
5/16*1/4 v ynjz "ann 45F0504
3/8*1/4 19 ynj 7ann 45F0604
3/8*3/8 719 ynj? "ann 45F0606
3/8*1/2 19 ynj? 7ann 45F0608
1/2*1/4 v %o ynjp 7ann 45F0804
1/2*3/8 v%o ynj? 7ann 45F0806
1/2*1/2 vv%o ynj7 7ann 45F0808
5/8*1/2 449 ynp Nann 45F1008
3/4*3/4 19 ynj 7ann 45F1212

42F - UNION
JINN 1170 190N
1/8 219 Ywpn 42F02
3/16 V19 "wpn 42F03
1/4 19 \wpn 42F04
1/4*5/16 1719 Ywpn 42F0405
5/16 219 "wjmM 42F05
5/16*1/4 1"19 Awjm 42F0504
3/8 119 Wwjin 42F06
3/8*1/4 2119 Ywpn 42F0604
3/8*5/16 119 "win 42F0605
1/2 2119 Awpn 42F08
1/2*1/4 a9 YwpNn 42F0804
1/2*3/8 11719 "N 42F0806
5/8 219 Wwiin 42F10
3/4 219 Wwpn 42F12
1" 2119 "wpn 42F16

03-6828850 :0y79 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




N”yl NI 1IN .D.N

N

N
Y "z
o =
.J)“\nu‘mm,m ] \'_f

e
&

~

iy
no T

219 179 "Mwpn

48F - MALE CONNECTOR

46F - FEMALE CONNECTOR

qINN 11707 190N

1/8*1/8 219 "wpn 46F0202
3/16*1/8 210 "wpn 46F0302
1/4*1/8 219 "wpn 46F0402
1/4*1/4 219 "wpn 46F0404
1/4*3/8 V19 Ywpn 46F0406
1/4*1/2 219 Wwipm 46F0408
5/16*1/8 219 qwpn 46F0502
5/16*1/4 119 "wpn 46F0504
5/16*3/8 119 qwpn 46F0506
5/16*1/2 119 qwpn 46F0508
3/8*1/8 2119 qwpn 46F0602
3/8*1/4 2119 qwpn 46F0604
3/8*3/8 2119 qwpn 46F0606
3/8*1/2 1119 qwpn 46F0608
1/2*1/4 299 Wwipm 46F0804
1/2*3/8 V19 Ywpn 46F0806

1/2*1/2 719 Ywn 46F0808
1/2*3/4 219 "wpn 46F0812
5/8*3/8 119 "wpn 46F1006
5/8*1/2 219 Wwpn 46F1008
5/8*3/4 119 Wwpn 46F1012
16*3/8 119 Wwpn 46F1606
5/8*1/2 A9 "wpn 46F5808

JIXN 117077 190N

1/8*1/8 V719 Ywpn 48F0202
3/16*1/8 219 "wjmm 48F0302
1/4*1/8 719 Ywpn 48F0402
1/4*1/4 719 Ywpn 48F0404
1/4*3/8 1v"19 Ywpn 48F0406
1/4*1/2 \"79 Ywpn 48F0408
5/16*1/8 219 "W 48F0502
5/16*1/4 219 "wjmm 48F0504
5/16*3/8 1'"19 "W 48F0506
5/16*1/2 219 "wjm 48F0508
3/8*1/8 119 "wjm 48F0602
3/8*1/4 219 "wjm 48F0604
3/8*3/8 219 "W 48F0606
3/8*1/2 219 "wjm 48F0608
3/4*3/8 119 "W 48F0612
1/4*1/2 719 Ywpn 48F0804

1/2*3/8 119 "wn 48F0806
1/2*1/2 A9 "W 48F0808
1/2*3/4 219 YW 48F0812
5/8*1/4 219 "wpn 48F1004
5/8*3/8 219 "W 48F1006
5/8*1/2 219 "wpn 48F1008
5/8*3/4 219 "wpn 48F1012
3/4*3/8 210 "wpn 48F1206
3/4*1/2 219 "wpn 48F1208
3/4*3/4 210 "wpn 48F1212

03-6828850 :0y79 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




N”yl NI 1IN .D.N

0071.
oM,

sl ¢ I

\ [mommpippn]
BAL ¥ /R
EAN =)

e S
0
X npw $

219 179 "Mwpn

50F - FEMALE ELBOW

)

L L

49F - MALE ELBOW

JIXN 117057 190N
1/8*1/8 19 nur 50F0202
1/4*1/8 19 nur 50F0402
1/4*1/4 19 nur 50F0404
5/16*1/4 a1 nur 50F0502
3/8*1/4 1o nur 50F0604
3/8*3/8 1o nur 50F0606
3/8*1/2 1o nur 50F0608
1/2*3/8 19 nut 50F0806
1/2*1/2 a9 nur 50F0808
5/8*1/2 19 nur 50F1008
3/4*3/4 19 nur 50F1212

51F - MALE RUN TEE

IINN 117077 190N
1/8*1/8 19 nut 49F0202
3/16*1/8 119 nur 49F0302
1/4*1/8 19 nur 49F0402
1/4*1/4 19 nur 49F0404
1/4*3/8 19 nur 49F0406
1/4*1/2 19 nut 49F0408
5/16*1/8 19 nut 49F0502
5/16*1/4 19 nut 49F0504
5/16*3/8 19 nut 49F0506
5/16*1/2 719 nut 49F0508
3/8*1/8 179 nut 49F0602
3/8*1/4 179 Nt 49F0604
3/8*3/8 119 nut 49F0606
3/8*1/2 179 nut 49F0608
1/2*1/4 19 nur 49F0804
1/2*3/8 19 nur 49F0806
1/2*1/2 19 nur 49F0808
1/2*3/4 19 nur 49F0812
5/8*3/8 19 nur 49F1006
5/8*1/2 19 nur 49F1008
5/8*3/4 19 nur 49F1012
3/4*1/2 179 nut 49F1208
3/4*3/4 79 Nt 49F1212

JINN 1170 190N

4*1/8 119 ynp Nann 51F0402
1/4*1/4 219 ynj? "ann 51F0404
5/16*1/8 o ynjz "ann 51F0502
5/16*1/4 219 ynp 7ann 51F0504
3/8*1/4 2119 ynp Nann 51F0604
3/8*3/8 2119 ynp Nann 51F0606
1/2*3/8 219 ynj7 nann 51F0806
1/2*1/2 219 ynj7 "ann 51F0808
5/8*1/2 2119 ynp "ann 51F1008

03-6828850 :0y79 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




0071.
oM,

Y, N~
/ )

il 1oC §

\ [now w3t o) /

N\

e S
0
X npw $

n”yYl NMxan 1IN .D.n

219 179 "Mwpn

640 Fr'9 qwim 54F - MALE ELBOW
JIXN 117077 190N . 1707 190n

3/16 215 770 640F03 1/14*1/8 45° 1719 Nt 54F0402
1/4 1 o it 640F04 5/16*1/8 45° \7o it 54F0502
5/16 1445 g RS 3/8*1/4 45° 129 Nt 54F0604
3/8 179 o froc 1/2*3/8 45° 199 Nt 54F0806
1/2 A9 o 640F08

5/8 \''19 ppo 640F10

i

3

55F - UNION ELBOW

JIXN 11707 1v0n
b kg 118 2o T 55F02
= FT——— 1/4 219 nur 55F04
L 5/16 149 nur 55F05
1/4 \x¥jp vxa 641F04
3/8 2o nut 55F06
5/16 ¥ vxa 641F05
: 1/2 2o nnr 55F08
5/16*1/4 xj vxa 641F0504
5/8 210 nur 55F10
3/8 ¥ vxa 641F06 3/4 v Tt 55F12
3/8*1/4 2xjp vxa 641F0604
3/8*5/16 xjp vXa 641F0605
1/2 xp o\ 641F08
1/2*3/8 2xp vxa 641F0806
1/2 pix' A¥p VXA 641F0808 \
5/8 2xp v 641F10
5/8*1/2 xj1 vxa 641F1008
3/4 xj v 641F12

639 F 779 "wpn

JINN 121707 190N
3/16 219 g 639F03
1/4 A9 gpo 639F04
5/16 119 pjro 639F05
3/8 119 o 639F06
1/2 A9 gpo 639F08
5/8 119 ppo 639F10

03-6828850 :0y79 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




N”yl NI 1IN .D.N

9001‘3

Q N
& X
< |
o\ [nommpipn] / o
LN ‘A

e S
0
X npw $

219 179 "Mwpn

42W 'n19> Wwjn

41W ¥a'x 0179 DIX

IINN 117077 190N

1/8 nT179 DIX 41W02
3/16 nT179 DIx 41W03
1/4 271719 DIX 41W04

1/4*3/16 nT1'719 DIX 41W0403
5/16 nT'79 DIX 41W05
3/8 nT1'79 DIX 41W06

3/8*5/16 nT179 DIX 41W0605
1/2 271719 DIX 41W08
5/8 nT1'719 DIX 41W10

11/16 nT179 DIX 41W1116
3/4 2179 DIX 41W12

W41 3 0199 DIX

JINN 11707 190n
3/16 73X nT'79 DIX 41W103
1/4 3R 2179 DI 41W104
5/16 3NX nT'79 DIX 41W105
3/8 1NN 179 DIX 41W106

S

41W on™1'm nT179 DIX

JINN 12170 190N
1/8 2w 7ann 42W02
3/16 "w' 7ann 42W03
1/4 "w' 7ann 42W04
5/16 "w' 7ann 42W05
3/8 A"wr' 7ann 42W06
1/2 2w 7ann 42W08
5/8 "w' nann 42W10
44W 10 W
JINN 12170 190N
1/8 119 0 44W03
1/4 199 0 44W04
5/16 179 '0 44W05
3/8 19 0 44W06
1/2 719 v 44W08
46W 179 "wjpm
JINN 117077 190N
1/8*1/8 "w' Nann 46W0202
3/16*1/8 "w' Nann 46W0302
1/4*1/8 vw' 7ann 46W0402
1/4*1/4 vw' 7ann 46W0404
5/16*1/8 "w' Nann 46W0502
5/16*1/4 "w' Nann 46W0504
3/8*1/4 "w' nann 46W0604

JINN 121707 190N
M"M 8 nT1%9 DIX 41WM8
M"M 10 nT179 DI 41WM10
M"M 10 nT179 DI 41WM100
M"M 12 n7179 DI 41WM12
M"M 14 31X 27179 DIX 41WM14
M"M 14*1.5 n179 DI 41WM14*1.5
M"M 16 nT179 DI 41WM16

03-6828850 :0y79 ,03-6837291 :j1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




001,
0_9 - .."‘Ja

{ <
l—' |

\ [mommmipo]
N/

e
&

~

N”yl NI 1IN .D.N

iy
no T

219 179 "Mwpn

48W 119 "wpn

94W 119 "Upn IINN 11707 190N

1/8*1/8 "w' 7ann 48W0202

JINN 12170 190N 3/16*1/8 "w' nann 48W0302
3/16*1/8 45° nann 94W0302 1/4*1/8 2w 7ann 48W0402
1/4*1/8 45° nann 94W0402 1/4*1/4 2w 7ann 48W0404
1/4*1/4 45° nann 94W0404 5/16*1/8 "w' nann 48W0502
5/16*1/8 45° nann 94W0502 5/16*1/4 "w' nann 48W0504
5/16*1/4 45° nann 94W0504 5/16*3/8 "w' nann 48W0506
3/8*1/4 45° nann 94W0604 3/8*1/8 "w' nann 48W0602
1/2*3/8 45° nann 94W0806 3/8*1/4 "w' nann 48W0604
3/8*3/8 "w' 7nann 48W0606

1/2*1/4 2w 7ann 43W0804

1/2*3/8 2w 7ann 48W0806

1/2*1/2 "w' 7ann 438W0808

5/8*1/2 "w' nann 48W1008

5/8*3/4 "w' nann 48W1012

3/4*1/2 hnwr 7ann 48W1208

49W 119 "Ywpn

JINN 1217077 190N
1/8*1/8 nut nann 49W0202
3/16*1/8 n"it 7ann 49W0302
1/4*1/8 nut nann 49W0402
1/4*1/4 nut nann 49W0404
5/16*1/8 n"IT 7ann 49W0502
5/16*1/4 n"iT "ann 49W0504
5/16*3/8 n"It 7ann 49W0506
3/8*1/8 nit nann 49W0602
3/8*1/4 nuit "ann 49W0604
3/8*3/8 nIT N"ann 49W0606
1/2*1/4 nut 7ann 49W0804
1/2*3/8 nut 7ann 49W0806
1/2*1/2 nut 7ann 49W0808
5/8*1/2 nut "ann 49W1008
5/8*3/4 nut 7ann 49W1012

03-6828850 079 ,03-6837291 ;1970 www.mf-p.co.il, email: mf-ltd@zahav.net.il




